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No 2 B -i& WE | B | Bif &% &5
1H{R)WMPFERDH: HEIE 1 = 3,056,600
CEEZEIE]
BEFTF—IILUSNORE BFF—TLEEBRITAYET,
FUMEREECHFENBARSERTCRESEVLEY
ARAIEHZERIEFELY
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IEk% ROMFERMOE HETE
Ino 2 Ak -tk B BM| B &%
1[{RE&ETHE 1.0 A 411,000
2| TE 10, =K 200,000
3[RKIE 1.0 A 285,000
A|ZBETE 10, =K 135,000
5|NETE 10/ =R 367,600
6| REHRIE 10, =K 704,000
7|4 KIE 10/ =R 233,000
8| MR R TE 10, =K 35,000 |BX7FFIH

9| BREIBEIE 10/ =R 170,000
10|58 EIRTE 10, = 216,000
1 |FERE 10, = 300,000
INET 3,056,600
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IEk% ROMFERMOE HETE
INo 2 H 18H& - <Hik AECIREY 248 iz

REETH

FHL FEREHEKaV U NE 100 =R 20,000 20,000

TEE 10, = 30,000 30,000

BRAFTE 10/ = 30,000 30,000

BB EEM LS E 10/ = 80,000 80,000

o)== 100 =R 30,000 30,000
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BREFEEYEE 10] =K 38,000

LERICHSERFE FRBRNE 10, = 28,000

BREERHMERUVIORARUAS A —REAL 1.0 =K 45,000

LERgHusE 10/ = 110,000
INET 411,000
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IEk% ROMFERMOE HETE
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MtV ITE
WERS R THYEE 2700 * 600 10 = 38,000 38,000
WEE D X FHHE 10, = 30,000 30,000
WERS KR UEL Y)Y in a5k 10, = 45,000 45,000
A A—30E EAY 10, = 42,000 42,000
HELMME 10, = 20,000 20,000
B AE 10, = 25,000 25,000
TNET 200,000
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BESBIFRTFAVETH 10, = 35,000 35,000
BER 9 RS Y HEH2 10, = 60,000 60,000
FRADUA—KIR ASIUeiERE LTS 2700 * 500 1.0 | 120,000/ 120,000
ith RN YRS % 10, = 30,000 30,000
HELMME 10 = 15,000 15,000
B AE 10, = 25,000 25,000
TNET 285,000
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HBERAGEBZE 10 = 20,000 20,000
HEAXHEER S M#IE 20, = 30,000 60,000
FHRRUYEER 10 = 30,000 30,000
MEE 10/ = 15,000 15,000
‘EE M 10 = 10,000 10,000
TNET 135,000
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XHFHIOXALEY BEERUVER 2100 m 1,500 31,500
XH#FI/OXEEY L RUFHLY 25| m 1,500 3,750
BIOXpsY BEFERVER 780 m 1,500 117,000
BHOREsY ML BRUFHEL 160, m 1,500 24,000
LEETHALE 1175 m 200 23,500
FRAGY EERUVER 2100 m 4,500 94,500
FRALY ML BRUFHEL 25 m 4,500 11,250
LR THhLIE 235 m 200 4,700
Y27k 290/ m 600 17,400
HHMEELE 10, = 15,000 15,000
B A B 100 = 25,000 25,000
INEE 367,600
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6| XREHEIE
T—IL ASEieHERELES 600 * 750 40, & 16,000/ 64,000
50 A 40| & 12,000/ 48,000
T—IL ASEedERELES 1200 * 750 200 & 32,000 64,000
L EC AR 200 & 16,000/ 32,000
BRI F H43012 £ 120 B 15,000/ 180,000
h oo 8—8BF H600F2 & 40| M 21,000 84,000
RUF W1640 200 & 86,000/ 172,000
LTEREZEE 100 = 35,000/ 35,000
LERERBAE 100 = 25,000/ 25,000
INEE 704,000
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BRENLRUVIEKIE 10 = 30,000 30,000
HKEEISE 100 & 30,000 30,000
HWEREIE 10, & 20,000 20,000
HKEEISE 10f & 30,000 30,000
EEKiE 1.0 & 26,000 26,000
BoKiz 1.0 & 7,000 7,000
BEEMH 1.0 = 30,000 30,000
FRRiEgFEEY 1.0 = 30,000 30,000
LTEREERRUMME 1.0 = 5,000 5,000
B A B 1.0] = 25,000 25,000

INEE 233,000
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HRIE 1.0l & 35,000| F &

E XHE 10| & BE7F I A

ML XHE 20| & i R izl
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TREAORUSESR 1.0l &

SHMNEEEIE 1.0l &

B A B 1.0] =

INEE 35,000
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No 25 B -~TiE BBl | B &% &5
BXIE
BRERHERVEREVNETSE 1.0 = 25000 25,000
fREAZRE 1.0 = 0|BX7FFI
Uk 10| =& 15,000 15,000
A F 1.0 = 15,000 15,000
SEIE 10, & 20,000 20,000
B HER 1.0 =X 30,000 30,000
BATECHR 10, & 50,000 50,000
HEMMEME 1.0 = 15,000 15,000
B A
Xa vt NEISBEEFI A
XEBRBOLA7IMOBBREIRESTHLD
EHEGRBDYICGYET
INEH 170,000
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No 2 BRig-<tiE B {iff £%8 &5
10 8P ERTE

NEERATH 100 & 28,000 28,000
TR —RRY 10 & 16,000 16,000
ERXF 100 & 15,000 15,000
#HERBAZSEE 100 & 30,000 30,000
#HMERH A —RY (@) 1.0l = 22,000 22,000
T—2ERE 10l = 20,000 20,000
T—REREHLHE 1.0 = 15,000 15,000
RSk T & 1.0 =K 50,000 50,000
B A 1.0 = 20,000 20,000

INET 216,000
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No 2 B BE | BEAL| BEf &% iE5
11|ERE

REfERILEU & 10, = 50000/ 50,000

EHHREERERRUITEEDLE. REIS 1.0, = 0 0|fEE Fa&

BISEEE IBBALELOTLADERT 100, H 15,000/ 150,000

BISHEE 100 = 50,000/ 50,000

SHBEE EERMEST 10, = 50,000 50,000 ;@ELEEHEDN10%
/NEt 300,000






